ER30FEE ZHFEMLEUW=AOFH
K4 fEFr HH&EE

K IEsh % KR 10, 000
RHF BR K% RIRHD 10, 000
B EA8| % BRI AR 100, 000
BEELXRA/1A L BRASH # HER 851,179
AGRA 1 % HER 10, 000
KB 8 ¥k RIEHR 10, 000
RO & # EER 10, 000
RE B K FEEJNN] 20, 000
fSE J— & KR FF 10, 000
ftH IEA HER 10, 000
I OFA K BRI AR 10, 000
=H FlE &% FEER 60, 000
BE & & BEER 10, 000
R F2 ¥ RIRHD 10, 000
B B RIRHD 10, 000
INE RE K BRI AR 10, 000
ik Bt B EHE 20, 000
0O EX % =BE 10, 000
ZH BN & KR FF 10, 000
AT = #% RIGE 40, 000
EE Kith BER 10, 000
R KE &% EER 10, 000
EM BT #% RIEHD 10, 000
BH EE & RIEHD 10, 000
BH BE #& BRI AR 10, 000
INTHE E2 AR RIEHR 12, 000
Hit A 4k RoR 12,000
miE ¥ % HER 10, 000
BE BAE ¥ rEEJNN 10, 000
SH B K RIRED 10, 000
AHE S KR AF 10, 000
A B Bk B 25, 000
= & & RIRED 10, 000
BPeR REMR AR HER 300, 000
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K4 Err M EEE
BH M4 RIER 47,000
£H KF & GEFES 10, 000
Bk KEE B R AR 10, 000
AR B & R AR 52,000
BFS & & FEEIIES 50, 000
BFS & & BN 20, 000
Pl JE R R BHER 30, 000
KIS Fih R AR 50, 000
TE —XR FRAE IR 100, 000
i X Ak R AR 50, 000
FFH E—BB R AR 300, 000
e 58 % R AR 10, 000
HMXx 2T # IR 10, 000
HE #E & BER 20, 000
#?wAR BT R AR 10, 000
B RA K PN 10, 000
£ NT BER 30, 000
B BE &% FER 22,000
=H S & AR 10, 000
=H BA & BHBR 10, 000
=H BA & BHBR 10, 000
MK BERF B R IR 10, 000
=K & & BER 10, 000
AR B #k itiE 20, 000
i @R A R IAR 10, 000
=g 2 & R IAR 500, 000
BH B Hk R IAR 10, 000
EH F— Fk R AR 10, 000
EH F— Fk R AR 10, 000
A X & BER 15, 000
Ak B R AR 100, 000
EIL & A R AR 10, 000
BH FA H R AR 15,000
g Rt B RIER 20, 000
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K4 Err M EEE
MR EZ Fk AR 10, 000
P RIER 10, 000
28 #— BER 54, 000
=H S & ARIE 10, 000
=H S & IR 10, 000
i K9 R EEE 20, 000
HK X B HER 20, 000
M fER B KR AT 30, 000
Frh SIL B R AR 100, 000
Rk AE B BER 10, 000
INEFIE B AR R AR 20, 000
Mg BZM & R AR 110, 000
AR A FR AR 10, 000
= GBS R AR 10, 000
ik 2 IR 10, 000
#ZEH AR B FER 20, 000
Bk X5 Fk RIAR 20, 000
=21 ER & HER 100, 000
e & Fk AR 120, 000
TR BF & hing 60, 000
IR FZ R AR 10, 000
ST ARIE 10, 000
hE RZ & FER 10, 000
wO £ ARIIR 40, 000
s EE TR 25, 000
S5 BF R IAR 10, 000
BAT B HR EER 10, 000
B8H EE #% R AR 10, 000
B8H EE % R AR 10, 000
R Rz B BER 500, 000
BEH BT FR FRE 10, 000
hEE B Ak EER 10, 000
B Fh # R AR 20, 000
IMNK BERF AR R IRAD 10, 000
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BY BT Z=RE 10, 000
filE Bz #% EIR 10, 000
=iE BX K RIRHD 60, 000
fE E— % RIEHR 12,000
XH TE K BRI AR 10, 000
BE B HER 50, 000
TEB i #% BRI AR 20, 000
fhE E HER 10, 000
LH ¥ & BER 10, 000
BEHE T8 &% FER 10, 000
B InfE Bk MR 20, 000
18R X K RIRHD 100, 000
HE & & TR 200, 000
EE Bz % FER 10, 000
ol £z %% RIRHD 20, 000
Bk EEF & FEEJNN] 60, 000
KK EZEF Bk #HE)IIR 100, 000
Kok 18 #% #HE)IIR 100, 000
Hok 18 #% #HE)IIR 60, 000
Il EX ¥ BIRER 20, 000
Il EX ¥ BIRER 10, 000
ENl EX # RIEHR 15, 000
=18 BX #% T2 10, 000
aR RE K RIEHD 60, 000
KL F=F Bk N 10, 000
Rl KEH Fk RIEHR 10, 000
=iE & =2FR 20, 000
NS B HER 100, 000
BE 2t % rEEJNN 10, 000
IR X— % HER 50, 000
ER BEXTF K HER 20, 000
WEF BREE HER 10, 000
IR FOA Fk HER 20, 000
EH B HER 10, 000
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B £ 5% RIRHD 200, 000
TH %KX % BRI AR 10, 000
TH %KX % BRI AR 10, 000
TH £E # RIEHR 10, 000
TH £E # RIEHR 20, 000
2% ME % HER 50, 000
=8 R2E & HER 10, 000
AMHB & HER 50, 000
hA R#k Fk FER 60, 000
£k B & dtimE 10, 000
o E—BR # RIRE 10, 000
[GH # % N 15, 000
AR KR #% BRI AR 12, 000
AR KR #% BRI AR 50, 000
g BiE #% RIRHD 20, 000
Al EE & BRI AR 10, 000
IR XA % HER 10, 000
TE HE Fk BER 10, 000
= N BRI AR 10, 000
AE FH &% BER 10, 000
EE AR AR dtiEE 100, 000
LM EA K TR 15, 000
Bk EA K RIEHD 60, 000
WA E/F #& BEER 32,000
A e A% EER 10, 000
H EE & HER 50, 000
R 7 N A RIEHR 100, 000
BH 2 RIRED 60, 000
O EH & BER 20, 000
fE E— % RIRED 20, 000
=20 T— % BER 10, 000
HIE FOth #% HMEJNE 10, 000
BH EF B BER 10, 000
SH ZF BER 40, 000
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K4 £ FH &8
E&I BE #% EER 10, 000
HiE RX FR FER 20, 000
N RIE R HEE 10, 000
XH Bt #k RIRED 20, 000
i NI RIRED 60, 000
aH ®F & HER 12,000
BH ®F & HER 12,000
KE KB &% KB AF 20, 000
FW = % RIRER 10, 000
I BT B BRIRHD 10, 000
hE &R HBER 10, 000
EA CE & RIRER 100, 000
Ml Bk & HBER 50, 000
BEK O & rENNNY 10, 000
EH F— % dbiEE 32,000
Ml BF % KBRAF 25, 000
Hik ZF & E)IR 10, 000
He &=EE % EER 10, 000
XE HE #% R 20, 000
BH Eh 1R R 100, 000
RH BR % R 100, 000
&H LE % HER 12,000
Hayward Gordon #% BEE 10, 000
B H#A RIRER 12,000
g B #% FER 20, 000
INR K #% FafE IR 10, 000
R KB & RIRER 10, 000
BH BF & RIRER 100, 000
ZIIl W=E & ZHR 60, 000
28 BF & RIRER 10, 000
Bl X HEE 100, 000
RER 128 # TR 10, 000
55 B &% RIRER 10, 000
WE Rt # KB AF 10, 000
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KA EC BRI AR 20, 000
hE FHE Fk RIRHD 10, 000
=l Bx &% RIRHD 30, 000
¥ B Fk RIEHR 100, 000
RF BR K RIEHR 10, 000
=k FE & FER 10, 000
B E— % BRI AR 10, 000
oI ZX #% AR 20, 000
JIg FE #& == 300, 000
B B fif] LU IR 60, 000
ZH HHEX EEE 10, 000
BRI B K ERE 20, 000
M E B BRI AR 10, 000
Rt BEE AR HER 1, 000, 000
EE B K RIRHD 20, 000
BE B F BRI AR 10, 000
Mt FE &K BHE 60, 000
INEF SRR AR BER 60, 000
KO FER #% BER 10, 000
HH LE HER 15, 000
240 K #% EME 110, 000
Wk BT Rk RIEHR 20, 000
ET i #% Wz 8 10, 000
INEF FRIEE #R BEER 25,000
HIR AR #% SiRE 20, 000
B EM EILE 60, 000
fER< K #EHH ¥ FEER 10, 000
HEE BEF R RIRED 50, 000
ERE BB HMEJNE 10, 000
ANE Z & HER 20, 000
BR 8% &% FER 10, 000
HE B FER 10, 000
#E KT % HER 100, 000
=B #ME &% HER 50, 000
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HH A &% KR FF 53, 000
INE B R BRI AR 10, 000
AH HBE # =5E 10, 000
e ER RIEHR 10, 000
dIl LWVBER #k BRI AR 10, 000
INF B % EILE 10, 000
HA & # #HE)IR 300, 000
WO AR BRI AR 10, 000
gk 2 & RERRT 10, 000
] R RIRHD 10, 000
Rk Fm H RIRHD 10, 000
B IR R BRI AR 10, 000
A BT FEER 10, 000
B 1EIE % MR 10, 000
M HE K dtimE 10, 000
FT Bt £ BRI AR 20, 000
Bl K#h % BER 20, 000
&N 2 & FRf 2 10, 000
&k &IL ¥k FRf 2 10, 000
R EA K HER 30, 000
RE BE &K BRI AR 10, 000
mE 2= #% 2R 20, 000
BEA —%& #% #AEIIE 20, 000
AR E—B % RIEHD 20, 000
WH BEREH K FEER 10, 000
RHF BR K RIEHR 10, 000
AR BE—HR BRI AR 40, 000
I A FR FER 10, 000
IWHE =58 #% BER 50, 000
R# # #% RIRED 30, 000
M ME & B 10, 000
mAF KE K rEEJNN 20, 000
N L #% SRl 10, 000
Hi# HETF K HER 5,000
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=78 W %k FEER 30, 000
Wk B # RIRHD 20, 000
R B F BEER 10, 000
a8 A % BER 20, 000
RF BR K RIEHR 20, 000
RO —# %k BRI AR 20, 000
INFDEE VERR AR HER 20, 000
i 4 BRI AR 1,000, 000
EE FH K BRI AR 70, 000
ME RS & BRI AR 10, 000
mH# FFE K AR 10, 000
HiEM fatL #R FER 10, 000
BT = ¥k AR 10, 000
A 8F #% HER 100, 000
R B % BEER 30, 000
TE MK RIRED 10, 000
= AE K BRI AR 10, 000
SAUE ifE—BR AR FEEJNN 10, 000
240 K #% EME 100, 000
EK HIKER ¥k BRI AR 10, 000
Al &F # #HE)IIR 20, 000
AH B— &% B AR 10, 000
RAGZR A % RIEHD 10, 000
R B F BEER 10, 000
R BRI A% HER 5, 500, 000
AF XFE #% =913 10, 000
B HF % =BE 30, 000
JRE #8— & RIRED 10, 000
AR EE F HER 100, 000
WH FE & rEEJNN 20, 000
)il LWHBER # RIRED 10, 000
ER % HER 50, 000
ZEih E—Bf Bk HER 75,000
HE KNR & EILE 10, 000
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K4 Err HEsE
=i Wz BER 100, 000
KRBT XE AR 30, 000
R R Bk HER 500, 000
ik BE A& HER 100, 000
= Mz B HER 500, 000
R FB & HER 100, 000
R BX % Pk s 1,000, 000
A BE % PN 10, 000
HH EE & HER 60, 000
it F H FER 10, 000
K Bk BER 10, 000
H¥E = #k R AR 10, 000
hE BB #k AR 32,000
KH Eih # R AR 10, 000
RHF BR B R AR 20, 000
A BUR B R AR 20, 000
WE X5 #% R AR 50, 000
iR A PR AR 10, 000
ET 3t HER 100, 000
TE AL B HER 50, 000
A fEE AR 20, 000
EF B— & BER 500, 000
il E=5 BER 10, 000
—# IEBh % HER 30, 000
BK B & M R 10, 000
P 8h BHER 10, 000
At+E BR K BHER 100, 000
ARER A Fk BHR 10, 000
5E 8 & I BB IR 20, 000
B B A R AR 20, 000
pY: R HER 10, 000
IR B PR 20, 000
FHW W= #% R AR 30, 000
BIR B+ % REHR 30, 000




